AQAH

Topic Test 1 Mark Scheme

Indices - Higher

Q Answer Mark Comments
1(a) 0.2 B1 oe
1(b) 45 B1
2 14 or 24 B1
3 4 B1
4 12 B1
112 + 142 = 317
or 122 + 152 = 369 M1
5 132 + 162 = 425
12 and 15 A1l
6(a) 116 B1 Accept 6
6(b) 230 B1 Accept 30
7 216 + 8 B1
8 [9.2, 9.5] B1
9 4 and 5 B1
10 104 B1

AQA Education (AQA) is a registered charity (nuni@#3334) and a company limited by guarantee registered il
England and Wales (number 3644723). Our registered address is AQA, Devas Street, Manchester M15 6EX.




Q Answer Mark Comments
7 B1
1
-7 B1
Yes ticked and B1 for Yes ticked and 2 examples
odd % odd = odd shown to be true
12 even X even = even B2 or
_ B1 for Yes ticked and partial
odd — even = odd explanation
and even — odd = odd
13 [2.8, 2.95] B1
Two of B1 any one correct
a=2,b=6
14 B2
a=8,b=2
a=4,b=3
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